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FART —A

Very short answer. Answer all the questions, Each quastion carries one mark.

1. What is an Equation ?
2. Explain your idea about Arithmetic Prograssion

3, Define a Scalar Matrix
4 \What is.a Mull set ?

5. Explain the term time value of money,
(6x1=6)

5. What is Geomeiric mean ?

o

PART —B
Short answer. Answer any six guestions. Each question carries 2 marks.
Solve 7(X - 2) +8 (X =3)-22=X+ 10

Find 12" term and sum of 12 terms of the series

I |2 =2
b, Find 15" term of the seriegs 3. 6. 12, —24

10, Showthat |~ 2 1| issymmetrig
51 a4l
port of an example, expfain the term Union of two sets
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12. Find the total interest and amount at the end of 5" year for Rs. 5,000 at 10%
per annum, simple interest.

13. Write down all the subsets of the set A= {3, 4, 5}.

14, 2X + 3Y = 4. 4X + 5Y = 8, Express these equations in the matrix equation
form. (6x2=12)

PART - C
Essay. Answer any four guestions. Each question carries 3 marks.
154X +2Y =06
EX+Y =86
Find the value of X and Y
16, Solve the equation 2X + 5/X =7,

17. A man saved Rs. 16,500 in ten years. In each year after the first he saved
Rs. 100 more than he did in the preceding year. How much did he save in the
first year 7

18. if the value of a car is depreciated 20% annually, what will be its estimated
value at the end of the 10" year, if its present value is Rs. 5,000 7

[0 1 -1 2] [2 1]

Q= tand R -
2 3| |4 3 6 5

Find P(Q + R) and PQ + PR. Hence prove P(Q + R) =PQ + PR

19 let P=

20). Findthe sum atthe end of 4 years for Rs. 10,000 at 10% per annum, compound
interast, (dx3=12)

PART =D

Long essay. Answer any two guestions. Each guestion carres 5 marks

21, Saolve the following simultaneous equations using Crammer's rule,
EX —BY + 42 =15, 7X + 4Y — 3Z = 19, ZX+Y+BZ = 48,

. Demand for goods of an industry is given by the eguation pg = 100 and supply
is given by the eguation 20 + 3p = q, where p is the price and q is the guantity,
find p and ¢

%]
5%

23 A man salls 7 norses and B oows at BRs. 5,880 and 6 cows and 5 horses at
Rs. 4.300. What is the selling price of each 7

24. Find the thrée numbers in A P, whose sum is 9 and the product is —165, (2x5=10)



